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SUBJECT CODE NO:- CA-1645 

FACULTY OF HUMANITIES 

B.A. F.Y. (Sem-I) 

Examination December /January-2022-23 

Economics – I (Compulsory)  

Micro Economics 

[Time: 1:30 Hours] [Max.Marks:40] 

“Please check whether you have got the right question paper.” 

N.B. 1. All Questions are Compulsory 

2. Use blue or black pen only 

3. Use pencil for diagram 

4. Use of any signs, attracting attentions is prohibited 

 

१. सर्व प्रश्न सोडवर्णे आर्श्यक आहे. 

२. फक्त वनळ्या वकिं र्ा काळ्या पेनचाच र्ापर करार्ा. 

३. आकृत्ािंसाठी पेन्सीलचा र्ापर करार्ा. 

४. कोणतीही लक्षरे्धक र् सािंकेवतक खुण करण्यास प्रवतबिंध आहे. 

 

Q.1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer multiple choice questions. (attempt all) 

(1) Wealth of Nation is the book of Economist 

A) Marshall 

B) Adam Smith 

C) Robbins 

D) Pigou 

(2) Who has given scarcity definition of Economics. 

A) Marshall 

B) Adam Smith 

C) Pigou 

D) Robbins 

(3) Under Law of demand ______ 

A) Price of Commodity is a independent variable 

B) Quantity demanded is a dependent variable 

C) Reciprocal relationship is found between price and quantity demanded. 

D) All of the above 

(4) Which of the following is the second law of Gossen? 

A) Law of equi - Marginal utility 

B) Theory of indifference curve 

C) Law of diminishing Marginal utility 

D) Law of Demand 
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(5) The slope of diminishing marginal utility curve is ______ 

A) Zero 

B) Positive (+) 

C) Minimum 

D) Negative (-) 

 

खालील बहुपयावयी प्रश्न सोडर्ा. (सर्व अवनर्ायव) 

(1) राष्ट्र ाची सिंपत्ती हा ग्रिंथ कोणी वलहला. 

अ) मार्वल 

ब) अॅडम स्मिथ 

क) रॉवबन्स 

ड) पीगू 

(2) दुवमवळतेर्र आधाररत अथवर्ास्त्राची व्याख्या कोणी केली. 

अ) मार्वल 

ब) अॅडम स्मिथ 

क) पीगू 

ड) रॉवबन्स 

(3) मागणी वनयमा अिंतगवत ______ 

अ) र्सू्तची वकिं मत हे स्वतिंत्र चल आहे. 

ब) र्सू्तची मागणी हे परतिंत्र चल आहे. 

क) मागणी मात्रा आवण वकिं मत यािंच्या मधे्य वु्यत्क्रम सिंबिंध असतो. 

ड) र्रील सर्व 

(4) खालील पैकी कोणता गॉसेनचा दुसरा वनयम आहे. 

अ) सम-सीमािंत उपयोवगतेचा वनयम 

ब) समरृ्त्ती र्क्राचा वनयम 

क) घटत्ा सीमािंत उपयोवगतेचा वनयम 

ड) मागणीचा वनयम 

(5) घटत्ा सीमािंत उपयोवगता र्क्राचा उतार असतो ______ 

अ) रु्न्य 

ब) धन (+) 

क) वकमान 

ड) ऋण (-) 
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Q1 

 

 

 

 

 

 

B) 

 

 

 

 

 

 

 

 

 

Answer in a Sentence. (Attempt all) 

(1) State the meaning of Micro Economics 

(2) What is the relationship between Supply and Price? 

(3) Who has propounded the concept of utility? 

(4) What is meant by equilibrium? 

(5) How is the slope of Indifference Curve? 

 

एका र्ाक्यात उत्तरे वलहा. (सर्व अवनर्ायव) 

(१) सूक्ष्म अथवर्ास्त्राचा अथव सािंगा. 

(२) पुरर्ठा आवण वकिं मतीत सिंबिंध कसा असतो? 

(३) उपयोवगतेची सिंकल्पना कोणी मािंडली? 

(४) सिंतुलन म्हणजे काय? 

(५) समरृ्त्ती र्क्राचा उतार कसा असतो? 

 

05 

Q.2 

 

 

 

 

 

 

 

 Explain Concept / terms / Units / events (Any two) 

(word limitation minimum 60 for each answer) 

(1) Demand function 

(2) Nature of Economics 

(3) Elasticity of Supply 

(4) Diminishing marginal rate of substitution 

 

सिंकल्पना / सिंज्ञा / घटक / घटना स्पष्ट् करा (कोणत्ाही दोन) 

(प्रते्क प्रश्नास वकमान ६० र्ब्द मयावदा) 

(१) मागणी फलन 

(२) अथवर्ास्त्राचे स्वरूप 

(३) पुरर्ठ्याची लर्वचकता 

(४) घटता सीमािंत पयावयता दर 

 

10 

Q.3 

 

 

 

 

 

 

 

 Attempt answer in short (Any Two) 

(word limitation minimum 60 for each answer) 

(1) Explain the importance of Micro Economics 

(2) Explain the Law of Supply 

(3) Explain the theory of diminishing marginal utility 

(4) Explain the merits of Partial equilibrium 

 

थोडक्यात उत्तर वलहा (कोणतेही दोन) 

(प्रते्क प्रश्नास वकमान ६० र्ब्द मयावदा) 

(१) सूक्ष्म अथवर्ास्त्राचे महत्त्व स्पष्ट् करा. 

10 
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(२) पुरर्ठ्याचा वनयम स्पष्ट् करा. 

(३) घटत्ा सीमािंत उपयोवगतेचा वसद्ािंत स्पष्ट् करा. 

(४) आिंवर्क सिंतुलनाचे गुण सािंगा. 

 

Q.4 

 

 

 

 

 

 

 

 

 Answer in Detail (any one) 

(word limitation minimum 200 for each answer) 

(1) What is elasticity of demand? Write the types of elasticity of demand. 

(2) State the meaning of equilibrium? Write the types of equilibrium. 

 

सवर्स्तर उत्तर वलहा. (कोणतेही एक) 

(प्रते्क प्रश्नास वकमान २०० र्ब्द मयावदा) 

(१) मागणीची लर्वचकता म्हणजे काय? मागणीच्या लर्वचकतेचे प्रकार वलहा. 

(२) सिंतुलनाचा अथव सािंगा. सिंतुलनाचे प्रकार वलहा. 
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